SE# 44

S 280 e Wy

(kW 3ol o]} A%)
4. EFES T2 ¥ 7 2
yyagxg Al

7t FHE

£)

dl) 71888 UL ¥F - Fal

°
.

H(EDY 7L R P e a4 3

&o] 9e 7

@M

A2 AL 2T N 2F 50 A

252 3 AF

AETE: AE HEZR &2
5%(F4)

BE7Rl3 : W 20,000,000

% 3hHu g 884 (o]3h “284"2} Aocho
A BAFES FATE D AFFS 23t 7]
228 Bolof 85 1 T et Bk,
R 2R
_‘_:_;(] : ZE_X]
AEE “?‘ 3+
71888 0.053%(2%A 37)
A AD
oSNy E

w 20,000,000 % 0.053% =W 10,600+---** @

Baiglel  7IReE) (A7l R YR

4827

* T 9
=83 & XA
* EFAE AF FHEAL ofde} =8
of| A B upeh 7‘=}°] 30/ §._}‘°]-§o] 245
2=,
10,600 X 30% =W3,180: -+ ®
(Aely Yz
®-©®

w10,600— W3,180=w7,420------+ ©)
(sHEEE) (QARYR) (AIALYR)

cAARYR: TFFY AT FARYEY
10%( 884 P111 3 %)
W 7,420X 10% =W 742+~ @
XM R
+®
W 7,420+ W742=w8,162

(L DL TARNNE L T-RE S LS

=) “BIRHZ 01T KHGHEATE 2E7IA0M 2t
BHETY QT EL£7IEL ZF YBYR LS
o| s0Ig0| MEEICH
ERE] 4 = 4 g o g |
FAAE | A ) 4889 30%
3 €l L4889 10%
S - AJ% 48989 15%
Q% &880l 20%
MAE | qenu .y zey BT B | HE2ES 25%
A 29
Sl . ARG A - HY | 48882 30%
EA A A qERHE] 2%

56




i

o4

210 Y

£ ARXs LAMETHO CHSHO! 2
Z SEOI 7HABI0I0F St 242
{0l et Xl 4002, AFZAICH
01 2EAIGI01 =T 500 THRVER] 2

r
s

©
40

0 rr 0z 40 Jm
o
0

il
na

dq2) 71€ 8 &0 ¥5F

)

AR FFA] BT FEF 20 %)

%A FAF

AETZ: A EadE &2y 155
ofstE

B g7l el . w50,000,000

S

R 7482
57): 354

HegH 4§ AEFdT: 19
71 888§ 0.024%(35A 1¥)
25 (24¥F) 718889 2%
A AP
o83 g A
(718889 2%)
0.024%+0.00048% =0.02448%
IRAE) (2402 ETTey
o3lANYE

W 50,000,000 X 0.02448% = W12,240- ++++ - @
* S4AEL: 30%
W 12,240 X 30%=>3,672:++++* ®

(Yelydg)
(B 1 IENSUEEH
= 0] =
ol E(m Z gzs
5wt = 52713 1el%-150]8F | 71882 2%
52 2 - 69742 16014 -20018F | 71889 4%
69 221 - 86742 21014 -25018F | 712889 8%

#6220 - 103742) | 26014k -300)8 | 71889 12%
103,200 = 120742] | 31014 =330]8 | 71€8.89) 16%

120 221 = 137704 | 36014 - q0°18F | 71289 20%
137 2.0} 41014 71882 24%

M2 RojAtg
1 %‘i*’l*ﬂl loja} vl (m) o} 3571 AHE A fel olElE 7
w0 ght
21113 o149 Wl A% Z)AlAu] (eAeluloled, ol 27

dolt], - LF““l Sell talelt o] 38 Friich

)
W12,240—W3,672=W8,568: -+ ®
AU
o AlARYE: YT 10%
W3,568 X 10%=W857-+ @
*3HY8
O+®

W 8,568+ W857=W9,425
(SAEYE) (ANRYR)  (BRIEYR)

ZF3) DENS EEEE T 1 20 (REA
PA4 BITT)
d3) 71888 A EU U= AT
&7
2AA A& F 2T HeHE 18W A
2FA 3 A%
AF2: B2 95 1245 (AE
F919] FA A7t 15m U )
By 719) 8 1 w60,000,000
€7 #4872
A 184
A2 < AEFF 47
71888 0.067% (1574 19)
Yl & (FAEQ): 7| 889 20%

AR
oA EYE
W 60,000,000 X 0.067% = W40,200 -+ @
* FAYLE A
W 40,200X20%= W 8,040+ -++-++ ®
(FAYIRYE)
D—@=wW32,160-+++++++- ©
* E5FAE UL A4 30%
W 32,160 X 30%=w9,648
(55238 YE)

W 32,160 — w9,648=W22,512: -+ @
(oY)

o AABYR: ALY E 10%
W22,512X10%=2,251-++-+- ®
FRYE
@+®

W 22,512+ W 2,251=W 24,763
BMET AMEREPRRE

57




